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BERT THEHROS)

£ E] EX B BxE
KIEHIIET JS9URT7Uh—
F20UA BT 7.00
PCAMUN Bli#t &) m 57.500 | K)IFLUIEE Vovbv-A&T
ik &t m 53.930
EERIUYIY @ 36 X L=340 N 7 S35CH L &
TERvU YAy ¢ 36 X L=170 X 7 S35CHE &
Tob L=63.5 H=34 & 7 S45C
AbynN—Y—2 64 L=165 7 7 FYIFLY
EEIK ¢ 38.1 L=1200 #H 7 S45SHH & &
ABSAA —#— $ 58 L=146 & 14 ABS#itfg
Toh=7L—b 200 X 200 X 25 ¢ 46 5 7| SS400, FfpAyF0TE
Tuh—%+vy7 =205 X 7 TISEESE
SEERBh SR AL 0.90kg/ B Flr kg 6.3 7'01-FCRIZ &
JINFEANAT 779bNAT m 54 FUIFLY
EUEN fi& m 0.80
a9 —h (R4 -BEER) | m 1.70
TR E m 21.48
a2 5 m 29.95
AP =RP 24N/mm2 W/C =50% m° 1.10
Foh—EIRE B R 15 Zem’ 580.30 | — &ML RIS HATS
R=) TR B 2
Foh—2#T
avoy—k 24-12-25(20) m° 2.02 2.016
il o 3 m” 11.76 11.76
AR SD345 D13 kg 155.40
TUh-REIREE VP125 m 2.80 2.8




$i4t THE I (H-150 B iR B ER)

B IR T2 Al Bu] B= EES
H 2 i H-150x 150 X 7 X 10 X 15 (SM400A)
m 79.765
79.765 x 0.0311 t 2.481 0.0311t/m
XA -R7L-} PL-9 X 230 X 400 ® 15
15 X 6.485 kg 97.275 6.485kg/
F3hVTh—(M16) X 60 AR/ Fh
iR Wb FyhM16) tyh 60
f#521)7° PL-9 kg 41.295 2.753kg/ 1%

XA sn D=1 LT



HESHBE R (EHEERE) H-150X150X7X10_ (SM400A)
B F s
MBS it & L T &%
i 5.291
2 5.291
3 4.291
4 4.291
5 4.691
6 4.691
7 4.941
8 4.941
9 4.941
10 5.191
11 5.191
12 6.441
13 6.441
14 6.441
15 6.691
(m) (m) (m)
&t 79.765 0.000 0.000

XiapEMO- T LT




E@Ea ) — N ER (B4 TA-1)

B ]
EE L= 3.800 m
B=1275 EE = 3.800 m“(CAD&VY)
LE&ME B= 1275 m
TE&fME Bil= 1575 m
7 | O E
‘ B1=1575 350
BREER L= 3800 m
N= 1 &EFRr
AR 200 HekiE N 3 &R
IKi = = P
S HOKBIIRESR L= 0800 m
)i
ZFh & Al EEN B Be S
W E i 1/2 x (1.275+1.575) X 1.000 m? 1.425
V9 —k 18-8-40 1.425% 38 m’ 5415
HEK B IR 0.20 X 0.10 X 0.8 X 3 m° 0.048
it m’ 5367
BB () FEE 3.8+(3.8 X 1.044) m” 7.767 | £1381.044
EHmiE 1275 x{( 0500 x 0 )
+( 0650 x 0 )+( 1.000 x 0)
+( 1500 X 0 )+( 1.650 X 0 )} m? 0.000
ek & 0.10 X 0.8 X 2 X 3+0.20 X 0.10 X 3 m? 0.540
it m’ 8.307
H #h#t t=10mm 3.8/10.0m R 04
1.425 % 0.4 m? 0570
EEHEKE HtErE m
¢ 150 HEEE 1.275 % 1 m 1.275
i m 1.275




E@Ea ) — N ER (B4 TA-2)

B ]
B=975 R L= 2.000 m
5 EEE A= 4000 m‘(CAD&Y)
sETHL FHEE  H= 2,000 m(A/L)
L ERiE = 0975 m
2 T &g Bl1= 1575 m
‘ B1=1575 MEpavsy—t .
FRHLER Li= 2000 m
= 0 &P
Bk 200 HEK i 1 &
IK; = = P
‘%7—?@ HKGEIRIEE L= 0500 m
)i
ZFh Al EEN By B= S
W E i 1/2 % (0.975+1.575) X 2.000 m? 2.550
V9 —k 18-8-40 255X 2 m’ 5.100
HEKEER 0.20x 010X 05 X 1 m’ 0.010
RSE5 8 Con 1.00 X 0.50/2 X 2.00 m’ 0.500
it m’ 5590
BB () EFEE 4+(4 X 1.044) m” 8.176 | £15:1.044
EEHmEiE 0975 x{( 0500 X 0 )
+( 0650 X 0 )+( 1.000 X 1)
+( 1500 X 0 )+( 1.650 X 0 )} m? 0.975
ek & 0.10X 05X 2 X 1+0.20 X 0.10 X 1 m? 0.120
RIzssHcoNgEE: | 1.00 X 2.00 m? 2.00
it m’ 7.271
B thit t=10mm 2/10.0m il 0.2
255x%0.2 m” 0.510
EEHEKE HtErE m
¢ 150 HEEE 0.975x0 m 0.000
5 m 0.000




E@Ea ) — N ER (B4 TA-3)

B ]
EE L= 9.500 m
B=1625 IE@}E - 9.500 m‘(CADJ:"))
TEHEE  H= 1.000 m(A/L)
B2=1000 150 L& B= 1.625 m
TE&fME Bil= 1.925 m
- O =
- -\/ 350
‘ B1=1925
FREMER Li= 9.500 m _
N= 1 &EFRr
AR 200 HekiE N 4 &R
IK; = = P
S HOKBIIRER L= 1150 m
)i
ZFh & Al EEN B Be S
W E i 1/2 x (1.625+1.925) X 1.000 m? 1.775
V9 —k 18-8-40 1.775%95 m’ 16.863
HEKEER 0.20X0.10X 1.15x% 4 m’ 0.092
£t m’ 16.771
BB () FEE 9.5+(9.5 X 1.044) m” 19.418 | £151.044
EHmiE 1625 x{( 0500 x 0 )
+( 0650 X 0 )+( 1.000 X 1)
+(1.500 X 0 )+( 1.650 x 0 )} m’ 1625
ek & 0.10X 1.15X 2 X 4+0.20 X 0.10 X 4 m? 1.000
£t m? 22.043
B tth#t t=10mm 9.5/10.0m il 1.0
1.775 % 1 m? 1.775
EEHEKE HtErE m
¢ 150 HEEE 1.625 X 1 m 1.625
g m 1.625




E@Ea ) — N ER (34 TA-4)

B ]
Er L= 7777 m
B=1925 EHEE A= 7.777 m‘(CAD&KY)
TEHEE  H= 1.000 m(A/L)
B2=1300 150 L EpnE = 1.925 m
TE&fME Bil= 2225 m
[ o
.y O 2
-~ 350
‘ B1=2225
FRHLER Li= 7777 m
= 1 &EFRr
HEK i 200 - 5
IKi = = P
o HKEEREE L= 1450 m
Ihminkk
Z
ZFh & Al EEN B Be S
W E i 1/2 x (1.925+2.225) X 1.000 m? 2.075
V9 —k 18-8-40 2075 % 7.777 m’ 16.137
HEK B IR 0.20 X 0.10 X 1.45X 5 m° 0.145
£t m’ 15.992
BB () FEE 7.777+(7.777 X 1.044) m” 15.896 | £1581.044
EHmiE 1925 x{( 0500 x 0 )
+( 0650 x 0 )+( 1.000 x 0)
+( 1500 x 0 )+( 1.650 x 0 )} m’ 0.000
ek & 0.10X 1.45X 2 X 5+0.20 X 0.10 X 5 m? 1550
£t m? 17.446
H tth#4 t=10mm 7.777/10.0m il 0.8
2.075 % 0.8 m? 1.660
EEHEKE HtErE m
¢ 150 HEEE 1.925 X 1 m 1.925
g m 1.925




E@Ea ) — N ER (B4 TA-5)

B ]
EE L= 6.500 m
; EEE A= 27.300 m“(CAD&Y)
IS = 4200 m(A/L)
B2 LE&ME B= 1500 m
TE&fME Bil= 2760 m
475
B1
FRHLER Li= 6.500 m
= 0 &P
HEK i 200 - 3 S
IK; = = P
o s BOKBIRER L= 1150 m
/7
ZFh Al EEN By B= S
W E i 1/2 x (1.500+2.760) X 4.200 m? 8.946
- J— _Q_ 3
av ) —k 18-8 io 8.946 X 6.5 m 58.149 | 4o o
HEKEER 0.20x0.10x 1.15x 3 m 0.069 |Ea>sy—rix
m3 JovoREED
p 3 /287
IR 91)—H  06x05%0.5/2%X6.5/2 m 0.244
£t m’ 58.324
B () EFEE 6.5 x 0.35+(27.3 X 1.044) m” 30.776 | £1321.044
ELmEia 0.650 X {( 4200 x 1) m? 2.730
XAATA-2ED /O
fBEE&HCon m?’ 1.20
HEokiE 0.10x 1.15X 2 X 3+0.20 X 0.10 X 3 m? 0.750
£t m? 35.456
Big HEER 27.3 x 1,044 Hhm® 28.500
B tth#t t=10mm 6.5/10.0m 7T 0.7
8.946 x 0.7 m? 6.262
EEHEKE HtErE m
¢ 150 HEEE 15%0 m 0.000
g m 0.000
IKIR=/INAT VP65 58.324/6 m 9.7




EWI ) —tIER (BA1TAS: FToh—EHEHM)

Foh—#(FI10UA) ##X
h735- hyFyvyn-
(S450) (S450)
160 L1000
400 100
HEE= ST st
F v b Toh—%xv7 Foh—FL—+t
(S450) (73 8%) (SS400, Béash» &)
300 36
o — W ol o —
DEERR R R 2z O | g3
S
62 EEHT Lﬂ_ 0y vy
355
TUvh—HHEE (U&5EY)
i} B # #® B | 8 & E:3
Ty b M62 @ 1 S45C
Foh—FvvT L=355 @ 1 TS 8%
Foh—FL—+ 300x300x36, ¢ 71 #® 1 SS400, Eepsh> &
BEERBHEEH 2.58kg L 1
hy FYoFn— $62 L=500 @ 1 S45C
hy FYoFn— $62 L=600 @ 1 S45C
2R & Al EEN By B= EES
PR R a—1~2
BT h— F110UA AT 2
+vbk M62 1X2 & 2
Foh—Fxvy T =355 1X2 & 2
7oh—FL—k[300x300%x36] 1x2 " 2
SEERRA SR 258 X 2 ke 5.16
HvFyo 5 n—| $62 L=500 1X2 & 2
HvFyo 5 n—| $62 L=600 1X2 & 2
HhTS5— ®91 L=160 2%X2 & 4
FHIREE VP150 101m x 2 m 2.02




EWI ) —tIER (BA1TAS: FToh—EHEHM)

7o h—#(F50UA)

& i X

h75-
(5450)

135

Y

hy TV ogn-

(845€)

L1000

7y b Foh—%%v7 Foh—FL—+t
(S450) (73 8%) (SS400, Béah -~ &)
1 b 2 O 3|21
0oyvy
TUvh—HHR (A5EY)
B B R OB B | B8 w OB
Tk Ha2 [l 1 §450
Fovh—%xv7 L=205 & 1 VAR 13
Fyvh—TUL—+t 240x240x30, ¢ 52 ® 1 $S400, mépoh - &
EHHEH 0.86kg ER 1
hy FYoTn— 42 L=700 @ 1 $45C
hy FYoTn— 42 L=1000 @ 1 $45C
2R & Al EEN By B= EES
PR R b—1~2
TER7hHh— F50UA AT 2
+vbk M42 1X2 & 2
Foh—Fxvy T =205 1X2 & 2
7o h—TFL—k[240x240x30] 1x2 " 2
SEERRA SR 0.86 X 2 ke 1.72
HvFyo 5 in—| p42 L=700 1X2 & 2
HvFYo5n—| 42 L=1000 1X2 & 2
HhTS5— $62 L=135 2%X2 & 4
FHIREE VP125 1.66m X 2 m 3.32




KEAHUET(FoA-)BER

2 ¥ B -~TiE Hiufi=s| 8| = e
F20UA —| EiFT /
PCAMUN - m 57.500 R YIFLURE
Yryby—-2&
[h G E M AMSUN BE-(EER VY YIv+ FERVYYIY) Xn
57.5—(0.340+0.170) X 7 - m 53.930
EERIY Y ¢ 36 X L=340 1| & 7 S35CHHE M
TERVU VI ¢ 36 X L=170 1] X 7 S35CH Y &
Tk L=63.5 H=34 1| @ 7 S45C
AP —=o—2 ¢ 64 L=165 1[ K 7 FUIFLY
EEE ¢ 38.1 L=1200 1| %8 7 S45SHE X &
ABSAA —4— ¢ 58 L=146 2| @ 14 ABSHiAE
7uh—=7'L—b 200 X 200 X 25 ¢ 46 1] #% 7 | SS400, F ary+A0EE
Tuh—%+vy7 L=205 1| K 7 TIVishEk
SEERBh SR AL 0.9 * 7 1] kg 63| 701-FCRZEHR
TINEANAT 779bN4A7 - m 54 FYIFLY
Hil L VaYi m 0.800
(BIFLE 0 90) a9y —k (A -BEER) m 1.700
TR E m 21.480
a B m 29.950
AR =L | 3.14X0.0972 X 1/4 X (0.8+1.7+21.48+29.95)
X (1+2.2) m’ 1.097




KEAMUET (FoH)BER ()

g59 K7 h—
HIfLE
E5 | HE ¢F |BmE|IEEE|zgsels —relzrre| B | CON [TMER S &) EE
1 F20UA 7500 | 4420 | 3.000 | 0.080| 0.030| 0.400 | 0.200 | 0.100 | 2.250 | 4.440
2 F20UA 8.000 | 4920 | 3.000| 0.080| 0.030 | 0.400| 0.000 | 0.100 | 3.020 [ 4.370
3 F20UA 7500 | 4420 | 3.000| 0.080| 0.030| 0.400 | 0.200 | 0.100 | 2.430 | 4.260
4 F20UA 7500 | 4420 | 3.000| 0.080| 0.030| 0.400 | 0.200 | 0.100 | 2.040 | 4.650
5 F20UA 8.000 | 4920 | 3.000| 0.080| 0.030 | 0400 | 0.200 | 0.100 | 3.090 [ 4.100
6 F20UA 9.000 | 5.920 | 3.000 | 0.080| 0.030| 0.400 | 0.000 | 0600 | 3.780 | 4.110
7 F20UA 10.000 | 6.920 | 3.000 | 0.080 | 0.030 | 0400 | 0.000| 0.600 [ 4.870 | 4.020
Elpi
&&t 57.50 | 35.94 | 21.00 0.56 0.21 2.80 0.80 1.70 | 21.48 | 29.95 7
(m) (m) (m) (m) (m) (m) (m) (m) (m) (m)




HEE T(BEH T T RBT) BB I # = it &

- N = ng g6 g TUh—EIRI5 (EWMES) WilE T 15 (B 2 15)

“ BOE CEMEE % 2 O OB OTEMENE ¥ 2 OB B THNE 2 B FHEE 2
No.203 + 24 15.4 0.0
No.203 + 10.000 8.00 15.4 15.40 123.2 0.0 0.00 0.0
No.204 10.00 204 17.90 179.0 0.0 0.00 0.0
No.204 + 10.000 9.95 35.5 27.95 278.1 0.0 0.00 0.0

& i 27.95 580.3 0.0




B 15 T Ik R ARHL

BERTTIER

S S S
% % %
S Y v
YA S, S & SyAS
& S < < S &S & S
B 9% 5 ) 5
I, % 2 % < %
1 S & S >
3200 6800 10000 1547 2406 9824 9825 9825 9830
BESIT 1=62125
26753 9824 25548 688
2800 5000 4000 394000212000 2953 824 2840008000 1000|2075 484000=16000 1575 2425 3473 7yh-HR
. >
REREFHERAM - &
8000 10000 9953 9824 9825 a 9825 6925 y
o
2000 60352 = 2000
= PTInT 427 V427,199
1500 55852 —va28 1500
I V426,118 425 I/ —
eaaivie V42518 <
vi25. 120 2l = f—
424.537 V424970 1 A
L (L% 1%
V424,030 -
P o0 188
: i TIPS /7 I
| Vll leIIIIIIIII//A fﬂy// ")-III// Y, ‘/III///IIII/ VR " " 19%8 423,200
: B B 188
¢ Al of£5° a3 " " " " " " " -2
. . 15 . . 7530 7K 1hE - B . o V421,200
v 7 A . e . . 00775k s ) s SOk PP I RS LN L
ke . 3 . 1388 . B 7% 6 70 . ha £ .
n” £ — o - x 3 = V piis i 71( i HFE i gisis - s - Vs iBis - s ”&5 s s = s QL1 ‘
ke . 574 (THE 7 SO (%4 o 77 5 7\ (85 n}n ‘U/[l(i 420.900
BT (1L firee f WWWWWWHX.‘EW 7 3 7/ wa 5
s 1 / 7‘\\ aY xf2in i N Di-24% LD Da-2dH ?;j}l){i
ZZZ (A 7 y/ — ) A DETANVAN N\ YR o v419.250
w416, 750 ° 18.750 | v418.750 oas 7:/ 77 ] g
) 4 : o8 us 250
12
o V417750 _—RRAAR ® ©) Y V418.250  _V418.250 % ® ®
O} ® — (8150) v417.750 ® @ ® T ¥
3] =] V417.750  _v417.250 / 0 i i v416.750
— ~. V416100 SO 2
. S~ 2 LI V415.600
— @ @ @ ~__ _ V415,100
— wregn / Y
— v414.100 @
YT E E Ny A
BESKE
© 0 O O e ®
® ® O
800 1202000224000 1953 | 1824 4820008000 1075 11/@2000=22000 1500 | 973 HAZEME
3800 2000 6500 9500 1m1 14075 4000 14473
549A-1 54Fh-2 s47A5 4743 547h4
547h 547A 547h 178 5470 178
ERER (A=1.0,2.0m) ERER (1=3.5m) ERER (H=1_0n) TRER (ERAA=T 50) XRER (BRAAT 50) ZRER (BRAAT 5n)

(ERERA22.7502)

(EDERA=17. 277

a2)

(E@ERA22.1082)

CEDBRAE. 0002)

(ERBRA24T602)




V424.030

5 THEHRAE/3)

NO. 203+10

GH=423. 976
FH=424.082

4000

1000750

)

750,

2750

2750

150

1. 500%

980

V423.050

50

= m‘ﬂg&am ) ‘-500%@

s T2

4300

1

R5

3000

V419.900

50

D-25

T15.4m2 |

7

1

o
o
o

V418.750

3500

—_—
i
d
g
g

/




Bz THEHEHE2/3)

NO. 204

GH=424.508
FH=424.589

837

4950

| V424.537
o| v 423.700
=|S v423.050
R i7

- 20 4m2
=4

= V419.900

J=
1=
o
2} v418.750

1000

V411,

750




Ri5 THEHRALEG/3)

920

6450

1000

V416.

150

(6210)

NO. 204+10
GH=421. 262
FH=425.172
4638 ,
7ol00 2250
750 2750 2750 750
1000|738 2688
Toh—RiE (WEBHEA)
=68f0
V425.120 4519500% 1. 508%
S o i
o) V424,200 4000 1 .
e |ﬁE
ol V423.050 i S8
B J %
215 /
b= 35.5m2 .
o)  V419.900
v417.750




Foh—S2 T (H150) 8= 5k

HEERAT N= 7
=& H= 0800 m
hi=  1.000
EPS i b= 0400 m
Fa{TE B= 0800 m
AED = 266 °
2 3] =3 = Bl| We EES
1#FTEY
W E iR 1/2 % (0.8+1) X 0.4 m? 0.360
avy)—k 0.36 X 0.8 m° 0.288
B 0.36 X 2+(0.8+0.4) X 0.8 m? 1.680
F5:] D13 kg 22.200
TUh-RFEREE VP125 m 0.400
—X LY
REERT il 7
av4y)—k 0.288 X 7 m’ 2.016
Ly 1.68 %7 m? 11.760
&5 (D13) 222X7 kg 155.400
TUh-REREE 0.4x7 m 2.800




(BEEET]

PifdmtT B = £ H %
% B ¥ kel i ' K =
X UTHRIMEHEELRY
[(U1t#@tT)
av o) —hmdt t=10cm A EEZ SR m2 22.74
$EERIE AT  D19(SD345. HDZ55) PN 19.0
HilFL avy)-t m 0.5
(HIFLER: ¢ 90) WAt m 1.9
AHEH m 1.2
T m 36.1
E=1C7¢=)) m 19.9
BEt m 59.6
L) D19(SD345. HDZ55) m 61.5
(RTHEREM) (f8+f & L=6.0m) X 0.0
(#8044t & L=5.5m) x 3.0
(#8044t & L=5.0m) x 0.0
($A# & L=4.5m) X 0.0
(SA# & L=4.0m) V. 40
(S84t & L=3.5m) x 0.0
(#8044t & L=3.0m) x 5.0
($A# & L=2.5m) x 0.0
(S84 & L=2.0m) x 7.0
Fuk D19/ (HDZ35) 19.0
AEE 150 X 150 (HDZ55) 19.0
AR—H— $65 L=127 38.0
SEANAT $215 69.1
SEAFTERT 0ck=24N/mm2 12
R 15 207.9
LT 5.0




U+ #®wtIHEHNEESE
S

DLAMET |AMEBR G v (v mveEE B E |5 oFE B § [ m[TEEE 5 W
No.203 + 19.200 0.00
No.204 + 1.600 2.400 1.88 0.94 2.26
No.204 + 2.200 0.600 2.88 2.38 1.43
No.204 + 5.000 2.800 3.75 3.32 9.30
No.204 + 5.000 0.000 487 4.31 0.00
No.204 + 6.400 1.400 487 487 6.82
No.204 + 7.600 1.200 0.00 244 293

& &t 8.400 22.74




[(L1t+#E+T]) P
PrmtT B = H B £
% W % Hokes it B AR BT B E
S ATL  D19(SD345, HDZ55) 19.0 ;N 19
=[/E<R aviy—k 05 m 0.50
(BIFL#E: 0 90) Wt 190 m 1.90
RH#EH 120 m 1.20
5 36.10 m 36.10
# () 1990 m 19.90
HIFLESET m 59.60
ikl D19(SD345) 615 m 61.5
($f#1 & L=6.0m) X 0.0
($A# & L=5.5m) X 3.0
($f44 & L=5.0m) . 0.0
($A# & L=4.5m) X 0.0
(f#4 & L=4.0m) V. 4.0
($f#4 & L=3.5m) . 0.0
($f#1 & L=3.0m) X 5.0
($A# & L=2.5m) X 0.0
($f44 & L=2.0m) . 7.0
Fyk D19 (HDZ35) 1x19 1& 19.0
AEE 150 x 150 (HDZ55) 1%19 ® 19.0
AR—H—  $65 L=127 ($M# & L=6.0m) 2x0 & 0.0
($A# & L=5.5m) 2x3 1& 6.0
($A# & L=5.0m) 2x0 1& 0.0
(A# E L=45m) 2%X0 1& 0.0
(A# E L=40m) 2x4 1& 8.0
A+ & L=35m) 2%X0 1& 0.0
($A# £ L=3.0m) 2x5 1& 10.0
($A# & L=2.0m) 2x0 1& 0.0
($A# & L=2.0m) 2Xx7 1& 14.0
&it & 38.0
EANRAT $215 Bl FLF+0.5 x §fl 44+ A $1=59.6+0.5 X 19 m 69.1
SEAITERET 0 ck=24N/mm?2 7T /4% 90/100072 X 59.6 X (1+2.2) m3 1.2




()t #Hss+ THRERSR]

I |@HE| 28 EARHIFLE (m) - $90 &% | @nE BIZLE (m) : 690
T KM gl m) | ) |aou-b| wet | mE | 2w [pee| @ | o |oov| v | w5 | 4w [pes| e
BEHT TEPSRAY 1| 55 | o 040 | 020 | 350 | 151 | 2 || 110 | 000 | 020 | 040 | 748 | 302 | 1080
NO.204~N0.204+13 1 | 55 | o1 |os0 | o010 350 | 121 | 1 55 | 050 | 010 | 000 | 350 | 121 | 540
2 | 55 | oi 040 | 020 | 318 | 192 00 | 000 | 000 | 000 | 000 | 000 | 000
2 | 55 | o1 | o050 | oo 318 | 162 00 | 000 | 000 | 000 | 000 | 000 | 000
3 | 50 | oi 040 | 020 | 266 | 1.04 00 | 000 | 000 | 000 | 000 | 000 | o000
3 | 50 | o1 |os0 | o010 266 | 1.64 00 | 000 | 000 | 000 | 000 | 000 | o000
4 | 40 | o1 040 | 020 | 216 | 144 | 4 || 160 | 000 | 040 | 080 | 864 | 576 | 1560
4 | 40 | 01 | o050 | 00 216 | 1.14 00 | 000 | 000 | 000 | 000 | 000 | o000
5 | 30 | od 0.10 185 | 095 | 5 || 150 | 000 | 050 | 000 | 925 | 475 | 1450
6 | 20 | oi 0.10 109 | 071 | 6 || 120 | 000 | 060 | 000 | 654 | 426 | 11.40
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